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Lineární rovnice

1. Jedno řešení
1) Řešte v R danou rovnici:
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VH: x = 3/2
2) Řešte v R danou rovnici:

x2 + 10 = (x + 5)2

VH: x = - 3/2
3) Řešte v R danou rovnici:

3x2 = (2x - 1)2 + 7 - (1 + x)2

x = 7/6
4) Řešte v R danou rovnici:

 222 )1()23()3(2  xxxxx
VH: x = 2/5

5) Řešte v R danou rovnici:
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VH: x = 4
6) Řešte v R danou rovnici:
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VH: x = 2
7) Řešte v R danou rovnici:
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VH: x = 3
8) Řešte v R danou rovnici:

5(x - 1) - x(7 - x) = x2

VH: x = -5/2
9) Řešte v R danou rovnici:

     322121 2  xxxx
VH: x = -1 

10) Řešte v R danou rovnici:
7 = (x - 4)2 - (x + 1)2

VH: x = 4/5
11) Řešte v R danou rovnici:

(2 - x)2 - x(10x - 13) = 2 - (3x - 2)2

VH: x = 2
12) Řešte v R danou rovnici:

15 - (3 - x)2 = (2x + 3)2 - 5x(x - 1) - 7x
VH: x = -3/4

13) Řešte v R danou rovnici:
(x - 1)(1 + 3x) - (1 - 2x)2 = - 4 - x2

VH: x = -1
14) Řešte v R danou rovnici:

 (x - 3)2 = 2x2 - 6x + 13 - (x + 1)2

VH: x = 3/2
15) Řešte v R danou rovnici:

      xxxxx 632112 
VH: x = 1 

16) Řešte v R danou rovnici:
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2. Nekonečně mnoho řešení
1) Řešte v R danou rovnici:
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VH: x  R
2) Řešte v R danou rovnici:

x2 + 16 = (x + 4)2 - 8x
VH: x  R

3) Řešte v R danou rovnici:
(3x - 1)2 + 8 - (3 - x)2 = 8x2

VH: x  R
4) Řešte v R danou rovnici:

  )3(48)2()32( 222  xxxxx

VH: x  R
5) Řešte v R danou rovnici:

47 - 2(5 - x)2 = (2x - 1)(3 - x) + 13x
VH: x  R

6) Řešte v R danou rovnici:
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x  R

3. Nemá řešení
1) Řešte v R danou rovnici:
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VH: NŘ
2) Řešte v R danou rovnici:

x2 + 6 = (x + 3)2 - 6x
VH: NŘ

3) Řešte v R danou rovnici:
3x2 - 6x = (2x - 1)2 + 7 - (1 + x)2

VH: NŘ
4) Řešte v R danou rovnici:

  )5104(4)5()21( 222 xxxxx 
VH: NŘ

m_1_linrce_priklady 31.7.2006 2/2

5) Řešte v R danou rovnici:
15 - (3 - x)2 = (2x + 3)2 - 5x(x - 1) - 11x
VH: NŘ

6) Řešte v R danou rovnici:
 (x - 3)2 = 2x2 - 4x + 13 - (x + 1)2

VH: NŘ
7) Řešte v R danou rovnici:

(2 - x)2 - x(10x - 13) = 2 - 3x - (3x - 2)2

VH: NŘ

4. Nula
1) Řešte v R danou rovnici:
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VH: x = 0
2) Řešte v R danou rovnici:

x2 + 16 = (x + 4)2

VH: x = 0
3) Řešte v R danou rovnici:

(3 - 2x)2 + 7 - (4 - x)2 = 3x2

VH: x = 0
4) Řešte v R danou rovnici:

  222 18)3()13()35(3 xxxxx 
VH: x = 0

5) Řešte v R danou rovnici:
x2 + 9 = (x + 3)2

x = 0
6) Řešte v R danou rovnici:

x2 + 25 = (x + 5)2

x = 0
7) Řešte v R danou rovnici:

x2 + 36 = (x + 6)2

x = 0


